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options {
JDK_VERSION="1.5";
}

QA N—F > (FESFNTERA 2 AL 2 ADIVERL EFEFOH L)

PARSER_BEGIN (Samp|e)
import java. io. *;

public class Sample {
public static void main(String args[]) {
try {
Sample parser = new Sample( new FileReader (args[0] ));
parser. start();
} catch (Exception ex) {
ex. printStackTrace () ;
System. err. printIn(“Failed to parse:“+ex. getMessage () ;
}
}

}
PARSER_END (Samp | e)
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SKIP: {

<SPACE: ” “|"™¥t™>

| <NL:"¥n”|"¥r”|"¥r¥n">
}

TOKEN: {
<NUMBER: (["0"="9"])+>
| CADDOP: “+”>

}
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void start(): {}
{

e()
}

void e() : {}
{
fO €20
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void e2() : {}




{
<ADDOP> f() €20

| {}
}

void (O : {}
{

<NUMBER>
}
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void e() : {}
{

(O (<ADDOP> f())x*
}

void fQ:{}
{

<NUMBER>
}
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void e() : {}
{

f(O (CADDOP> () {System.out.print(” +");})*
}

void T() : {Token token;}

{
token=<NUMBER> {System. out.print (" “+ token. image) ;}

}
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void start(): {int result;}
{
result=e()
{System. out. printIn(“result="+result) ;}

J

int e(:{int result; int num;}
{
num=f () {result = num; }
(CADDOP> num=f () {result += num;})*
{return result;}

J




int TO:{Token token;}

{
token=<NUMBER> {return Integer.parselnt (token. image) ;}
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options {

JDK_VERSION="1.5";
}

PARSER_BEGIN (Samp|e)
import java. io. *;

public class Sample {
public static void main(String args[]) {
try {
Sample parser = new Sample( new FileReader (args[0] ));
parser. |l ist();
}catch (Exception ex) {
System. err.printIn(“Failed to parse:”+ex. getMessage()) ;
}
}

}
PARSER_END (Samp | e)

SKIP: {
<SPACE: ” “|"¥t™>
J

TOKEN: {
<NUMBER: (["0"="9"])+>
| <NL:"¥n"|"¥r”|“¥r¥n">
| CADDOP: “+">

}

void list(: {Integer value;}

{
(value=expression)<NL> {System.out.printIn(value);}
) *

}

Integer expression() : {int result;Token tokenNum;}

{
tokenNum=<NUMBER> {result=Integer. parselnt (tokenNum. image) ;}

(CADDOP> tokenNum=<NUMBER>




{result+=Integer. parselnt (tokenNum. image) ;}
) * {return new Integer (result);}
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SKIP: {

<SPACE: ” “|"™¥t™>

}

TOKEN: {
<NUMBER: (["0"="9"])+>
| <NL:"¥n" | “¥r™ | "¥r¥n">
| CADDOP: “+">

}

void list(:{}

{
(expression () <NL>
) *

}

void expression() : {}
{
<NUMBER>
(<ADDOP> <NUMBER>
) *

J
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void list(:{}
{
(expression ) <NL> {System. out.printin();}
) *

J

void expression() : {Token tokenNum;}
{
tokenNum=<NUMBER> {System. out. print (tokenNum. imaget” ) ;}
(ADDOP> tokenNum=<NUMBER>
{System. out. print (tokenNum. image+” “) ;
System. out. print "+ 7);
}
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